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�������� �� ��������� ��� ������ �� ����� �� ���� M � ����� R� �� ���������� ������������ � ���

����������� T � ������� �� �� ����� ������������ ��������� �����������

��� ������� ��� �� ������� ��������� ������������ �� �� ������ �� Eg = ΘGM2/R� ����� G �� �� ���������

�� ����������� ��������� � Θ ��� ���������� ���������� ��� �� �������� ��� ����� ��� ������� �� ������

�� ���������� ����� Θ�

��� ������� ��� �� �� ����� �� �� ��� ������������ �� ������� P0 �� �� ��������� �� �� ������ ��

P0 =
cvMT

2πR3
− ΘGM2

4πR4
,

����� cv �� �� ����� ��������� � ������� ��������� ��� �������� �� �� �������

��� ������� P0 �� ������� �� R� � ������� ��� ����� �� ������� ������� �� ����� RJ � �� ���� MJ ��

�� ������ ��� ������������ � ����� ������ ���� ����������� ����� � ���� �� �������

��� ������� �� ����������� �� �� ������ ���� ��� ���������� �������� �� ������� �� M � ������� ��� ����

M > MJ � �� ������ �� ��������� � ������� ����� �� �������

��� ������� ��� ����������� ����� �� ���� �� ����� �� �� ������� �� ��������� ��������

��� ������� �� ���� �� ����� ���� ��� ������ �� ��������� ��� ��� �������� ����� ρ = 10−24 � ��−3 �

T = 100 �� ������� �� ����� �������� ������������ ���� � �� ���� �� ��� �������� �������

�������� �� ������� �� ����� ������������ ��������� � ��������� ������������� ��� ρ0 � p0 ����� ��

���� ������ �� ������ �� ������ ����� � ��������� U � �� �� ����������� �� ��� ��������� �� ���������������

����� � �� ���� �� ����� ������������ ����������� ������������� ��� ρ0� p0 � u0 = −U � �������� ��� ���

���� ���� ������� �� ����� ������������ ������� �������� ���������� ������������� ��� ρ� p � u�

��� ����� �� ��������� �� �������� ψ = ρ/ρ0� �� ��������� ��� ������ c20 = γp0/ρ0 � �� ������ �� ����

M0 = u0/c0� ������� ��� ��������� ��� ��������� �� �������� �� M0�

��� ������� �� �������� �� ��������� �� ������� �� M0 � ������ ������� ��� ��������� ���� �� ������

�� ���� �� �� ����� ������� �M� �� ������� �� M0�

��� ������� ����������� ����������� ���� ������� �������� �� ������ �� �� ������ M0 → ∞�

��� ������� ��� �� �� ���� �� ������� ������� �M0 < 1�� ������ ��� ��������� ������ �� ������������

������� ����������� ��� ���������� ���������� ������ ����� �� ���� ����������� �p/ργ =���� � ������� ���
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�������� T = 100 ��

��� �������� �� ��������� �������� ������ �� �� ����������� �� T = 104 �� ������� �� ��������� ����� ��
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��� ��� ����� ������������ ��� ������ ����� ���������� ��� ��������� �� H2 � T = 15 ��

�������� �� ��� ����� �� � ����������� ���������� ��������� ������ �� ������ ��� ��� ����������

������� �� ����� R ∼ 0,5 µ� � �������� ρ ∼ 1 � ��−3� �� �� ��������� �� ����� ���� �� ��� ����� ��
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���� M0 > 1� ������� �� ����� ���������� �� ����� ��������� �M1 < 1�� ����� ������ �� ��� �����

���������� ���� ����� ������� �pi = nikBTi�� �� �� ������� �������� �� �������� � �� ������� �� ��������

��� �� �������� pi = �ρi(γ − 1) �� �������� ��� ���������� �� ����� �� ���������������� �� �� ������ ��
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ρ0v0 = ρ1v1 ,

ρ0v
2
0 + p0 = ρ1v

2
1 + p1 ,

γp0
(γ − 1)ρ0

+
v20
2

=
γp1

(γ − 1)ρ1
+

v21
2

.

��� � ������ �� ����� ���������� ��������� �� �������� �� ������������ ����� �� ����� ������� T1 � ��

����� �� ������� T0 ��������� �� �������� ��� ������ �� ���� M0 � γ�

��� ������� �� �������� �� ������ �� �� ���� �� ������ �� �� ��� ������������ ����������� ��� M0 = 100

� ����������� T0 = 106 ��
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